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RE: 70020N7
WE ARE STILL CONTIMUING TO TRY TO FIND OUT WHAT THE REAL PROBLEM IS WITH
THE SOFTHARE WE HAVE IN THE 70030 FOR THE WAFERTARPE (GATE CONE L11001).

AT T MENTIONED TO YOL WHEN T WAS IM JAPAMN, WE GET A FATLURE USIMG THE
ACTUAL PART THAT WE DONCT SEEM TO GET WHEN USING THE AMPL. SINCE THAT TIME
WE HAVE FOUND A SERIOUS PROBLEM WITH OUR MACHIME LEVEL CODE, BUT THAT ERROR
DOES MOT EXPLATM WHY THE AMFL WORKS AND WE BELIEVE A SEPNRATE PROBLEM IS
RESFOMETELE FOR THE ACTUAL FATLURE.

TH SEARCHIMNG FOR THIS SECOHND SATLURE, WE HAVE BEEM TESTIMNG SOWE CODRE (WHICH
TS MOT WSE THE MICROCODED ITMESTRUSCTIONS OF THE LL1I001) O THE 700200,

WE ARE APPAREMTLY SEFEING A SUPRIZING FATLURE O THESE 700200 PARTZ. THE
FATLURE APPEARS TO BE THAT THE PART 12 MOT ARBLE TO RBE IMTERRUPTED OUIT OF

AR IDLE STATE WITH AN IMNTERRUPT 2 FROM THE TIMER, SPECIFICALLY., WE HAVE THE
FOLLOWIMNG ConE:

MOVF  %START. TIMER START = A0, TIMER = 203
MOVP  ZI2CS. IOCMTL 1205 = G, IOCNTL = 200
EINT

CLR B

IDLE

ETJO ZSETBIT.B.RSYNCE

THE FAILURE WE BELIEVE WE ARE SEEING IS THAT THE PART DOES MOT EVER COME OUT OF
THE IDLE IMETRUCTION WHEM THIS 15 EXECUTED. T AM NOT ABSQLUTELY SURE OF THIS
EECALEE WE HAVE OMLY A COUFLE OF 70020A PARTS OVER HERE AMD THIS WAS NOTICED
LATE FRIDAY FOR THE FIRST TIME. WE HAVE SOME OTHER 700200 FARTS OVER IN THE
GUAL LAR WHICH I WILL GET BACK MONDAY AND WE WILL VERIFY AGAIM WITH MORE PARTS
AMD MAKE ABSOLUTELY SURE WE ARE NOT SEEING SOMETHIMG ELSE. IT IS DIFFICULT FOR
ME TO IMAGINE THAT THE FART ACTUALLY HAS THIS TYPE OF FATLURE. BUT 1 WANTED TO
ADVISE YO OF OUR ITMFORMATION AMD GET YOUR COMMENT.

I AM STILL THTERESTED VERY MUCH IN THE PROGRESS OF THE LOTS OF WAFERTAFE CODE
OM THE 700200 (GATE CODE L710005). DO YOU HAVE AMY CHAMGE TO THE 11/2
SHIFFING DATE FOR THESE PARTET

BEST REGARDE,
C.B. WILSOMN..... e ALECC/ALCE
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RE: L11001 REPLY FOR YOUR TELEFHONE CALL

({ DEVICE STATUS )

GATE CODE NEME OF CZOA ( PREVIOUSLLY CALLING L11001 ) IS L71000%5,
FOLOTS OF L71000% PARTS ARE RUNNING AT OUR FRONT-END, AND SHIFPING
COMMITMENT ARE AZ FOLLOWS.

SLTCE Ut 1O/ 246

F.o our 11/1

SHIPFING 1172
FROBARLY SAME A% C71003 SHIPPING WHICH FARTES WERE FPREVIOISLLY CALLING
THE GATE CODE C11004,

(¢ FUNCTION DIFFERENCE BETWEEN C20A8 AND C20 ))

L) D20/

-~ PRIORITY OF INT CLR AND EN X 1
-~ ITLLEGAL RELEASE OF IDLE STATE X 0

) p— NOT CORRECT
171 e e e o CORRECT

= DETAILS OF PRICORITY OF INT CLR AND EN =
I/700 CONTROL REGISTOR SET "1 1" (CLR/EN AT THE SAME TIME) . IN THIZ CASE.
IF INT INPUT I% ALREADY LATCHED AND INT FLG IS ACTIVE,IT Iz ORDINARY
MANNER T CLEAR INT FLG PRIOR TO ACCERT INTERRUFT WITH EN FLG="1Y
AMD DISABLE INTERRUFT ACTION.
HOWEVER C2O WILL OCCASIONALLY PRICORITIZE EN BIT AND ACTIVE INTERRLUFT
DUE TO TIMING SKEW.

= [ETAILZ OF ILLEGAL RELEASE OF IDLE STATE =
WHEN CPU EXECUTES IDLE INSTRUCTION,CPL ENTERS INTO POWER SAVE MODE RBY
CLOCEHALT. THE RELEASE OF THIS STATE WILL BE DONE BY INT INFUT.
IF THE INT INFUT NOT INFLUENCED BY INT RBIT AT STATUE REGISTOR OR OINT EN
BIT IS USED, IT WILL CREATE THE FROBLEM. '
FOR EXAMPLE.AT THE STATE THAT INTZ IS DISABLE BY EN BIT OF I/0 CONTROL
REGISTOR, INTS INFUT BECOMES ACTIVE FOR IDLE RELEASE,CFU NEVER ENTERS
TOOOINTE ROUTINE WHILE CLOCK KEEFPS RUNNING.WHEN INT IS DISABLED BY INT
BIT OF STATUS REGISTOR, THE SAME THING MAY HAFFEN.

BEST REGARIDE.
RYCLIT YONEMOTO  FEJUP



MT358P10
F504 oz
1067 FS505 92
FS506 02
1068 F507 DS
FS508 31
1069 F509 DS
FS50A 30
1070
1071 FS0B 72
FS50C F7
FS0D 33
1072 FS0E 72
FS0F 8A
F510 34
1073
1074
1075
1076 FS511 A2
FS12 AO
F513 03
1077 _F514 A2
F915 4C
FS516 00
1078 F517 05
1079 FO18 CS
1080 F519 (03
1081 FS51A 56
F51B 08
F351C 03
1082 F51D CS
1083 FS1iE 01
1084 F51F 97
F520 08
FS521 07
1085 FS22 CS
1086 F523 01
1087 F524 57
F525 08
FS526 Fé
1088 FS527 EO
FS528 89
1089
1090 F529 CS
1091 F52A 01
1092 F52B 56
F52C 08
F52D FY
1093 F52E CS
1094 FS5S2F 01
1095 F530 56
F531 08
F532 Fa
1096 F533 72
F534 04
F535 oz
1097 F536 EE
1098

MOVP

CLR

CLR

* COPY

MOV

MOV

MoV
MOV
CLR
MOVP

*® %k %

- MOVP

a2 -5

EINT
EREEN e -
;e,..-‘:-.‘-,r e il DL

BTJO

RSYNC7 CLR
IDLE
BTJz

RSYNC8 CLR
IDLE
BTJZ

RESINK JMP

# test for 2

RSYNC? CLR
IDLE
BTJO

CLR
IDLE
BTJO

MoV

TRAP
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CHKSUM

CHKSUM-1

S
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2/3 bit timer

set chksum to O

ALC. JCF. STRINGY. SRC. OLDRINT old microcode i

ZRBITDT/256, INT2V-1

ZRBITDT-(256#(RBITDT/256)), INT2V

ARDBIT1, INT2
ZRDBITZ2, INT2+1
INT2+2
ZSTART, TIMER

%12CS. IOCNTL
B
%SETBIT, B, RSYNCB

B

%ZSETBIT, B, RSYNC?

B
ZSETBIT, B, RSYNC7
RESYNC
more Os

B

ZSETBIT. B, RESINK

ZSETBIT, B, RESINK
%4, BITCON

BIT8BA

set up INT2 opcode
set up INT2 parameter
set up INT2 parameter
start 2/3 bit timer

select & clear INT2

reinterruptidity
TEST

TEST =
test for 1

TEST
TEST
test for O

TEST
TEST
test for O

if two 1’s in a row

TEST
TEST
test for 1

TEST
TEST
test for 1

bitcon will have been 1

wait end of nibble (spac

# register A will have been swapped (spacer only)
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" MT358P10

0204
0205

L X

0208
0209
0210
0211
0212
0213
0214
0215
0216
0217
0218
0219
0220
0221
0222
0223
0224
0225
0226
0227
0228
0229
0230
. 0231
{ o232
~ 0233
0234
BOOO1
BOOO2
BOOO3
BO004
BOOOS
BOO0&
BOOO7
BOOOS
BO009
BOO10O
BOO11
BOO12
0235
0236
0237
0238
C0001
0002
0003
C0004
C0005
C0006
C0007
W C0008
C000%9
C0010
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# wafer drive control constant equates

WE & sens

freq cutof

OOFF INITDR EQU >FF initialize drive
0001 INITWF EQU >01 initialize wafer ddr
O0F3 MT EQU >F3 turn on motor % sensor
0008 MTBAR EQGU >08 turn off motor
O0F1 MTWE EQU >F1 turn on motor.
0000 RENITW EQU >00 tri-state DO
OOFB SN EQU >FB turn on EOT/BOT sensor
OOFB STOP EQU >FB turn off drive except se
00F? WE EQU >F9 turn on WE & sensor

# wafer test contant equates
0040 BATTRY EQU >40 bit-test for battery-lev
0002 EOTTST EQU >02 bit—-test for EOT
0080 INPUT EQU >80 bit—-test for input data
0004 WP EQU >04 bit—-test for WP

# wafer data consatnt equates
0001 INVBIT EQU >01 wafer—write invert
0008 SETBIT EQU >08 store a "1" bit

*

# bus control constant equates
0001 DROP EQU >01 drop HSK bit
0000 HSKSET EQU >00 let HSK float
0004 INHIB EQU >04 inhibit IBC
0001 RELEAS EQU >01 release—HSK bit

# bus test constant equates
0001 HSK EQU >01 bus ready bit-test
0008 1IRG EQU >08 bus data ready bit-test
0002 BAV EQU >02 BAV active test

*

COPY ALC. JCF. STRINGY. SRC. MHZ358

# timer constant equates
000D BITIME EQU >0D 3. 58MHz, BKkBaud data half-bit time
0020 HALT EQU >20 stop timer
00CO HRANGE EQU >C0 3. D8MHz - high time/low freq cutof
0038 LRANGE EGU >38 3. 58MHz low time/high
OOBF MAX EQU >BF max timer, no sleep
0006 ORANGE EQU >06 3. 98MHz bit to bit compare
0000 SLEEP EQU >OO’JQQL¥£/ sleep mode
iOOAO‘ START EQU >A0 timer-start bit
% software loop constants
0047 BOSTIM EQU >67 3. 5S8MHz wait valid sync (150 ms)
O00Bé BOTIME EQU >Bé 3. 58MHz BOT past head (300 ms)

# COPY ALC. JCF. STRINGY. SRC. MHZ5

3 ——

#* COPY ALC. JCF. STRINGY. SRC. FE

COPY ALC. JCF. STRINGY. SRC. PE

# interrupt select & clear constant equates
0043 I1CS EQU >43 clear and select INT1
006A I123C EQU >6A clear INT1,2%3 flags

048 I1I2C EQU > clear INT2 flag

004C 12CS EQU >4 clear and select INT2
0004 125 EQU >04 test INT2 select bit
0068 123C EQU >68 clear INT2&3 flags
007C 1I23CS EQU >7C clear and select INT2%3
0060 1I3C EQU >60 clear INT3 flag
0070 1I3CS EQU >70 clear and select INT3

e . o, et o 0 —




